SM223 - Calculus ITI with Optimization Fall 2017
Assoc. Prof. Nelson Uhan

Lesson 26. Local Minima and Maxima, cont.

Practice!

Use what we learned in Lesson 25 to solve the following problems.

Problem 1. Find the local minimum and maximum values and saddle points of f(x, y) = 2xy — 4x — 2y — 2x? — y°.
Problem 2. Find the local minimum and maximum values and saddle points of f(x, y) = 2 — x* + 2x* — y*.

Problem 3. Find the local minimum and maximum values and saddle points of f(x, y) = x> — 3x + 3xy>.



Problem 1. Find the local minimum and maximum values and saddle points of f(x, y) = 2xy — 4x — 2y — 2x> — y%.
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Problem 2. Find the local minimum and maximum values and saddle points of f(x, y) = 2 — x* + 2x* — 2.
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Problem 3. Find the local minimum and maximum values and saddle points of f(x, y) = x> — 3x + 3x*
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